= o
A & 0l & AF 2 E A A
A= LSS SN ZAHE D
HE: CANL(FELTGHL/NALTAI)
o9l BNCAYTRY (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
AENE= 78,319,516 74,361,332 3,958, 184
= 9,639,897
= 2,988,000
= 2,433,931
Al 63,257,688
S ALH = 0t 15,907,921 15,012,986 894,935
= 17,000
< 250,000
Al 15,640,921
SANL(ZELXNGMNL/NEL A 15,819,049 14,964,986 854,063
= 17,000
< 250,000
Al 15,552,049
S ECANEER2Y 2,013,062 1,561,262 451,800
S A #E 2t 13,062 61,262 A 48,200
201 et 462 49,662 A 49,200
02 2324l 462 49,662 249,200
OS Al A &l &t 3| 3l Hl 462,000& = 13l 462
202 04 Hl 3,600 3,600 0
01 = LH 4 1 3,600 3,600 0
Oll2EXNEs g2 3,600,000 = 14l 3,600
203 R =&l 9,000 8,000 1,000
03 A Z=XH R =AY 9,000 8,000 1,000
OHENEANHFA 7,000,000& * 14! 7,000
OZAHEAHZ=E 2,000,000& * 14 2,000
S3SENEHAEZ 02X 24 2,000,000 1,500,000 500,000
401 AIEHI L 2CHEI 2,000,000 1,500,000 500,000
01 A& Bl 1,995,000 1,495,000 500,000
O 2Z2ENHYEZ DI=2EXNBH
1,995,000,000& = 14 1,995,000
03 A& 2 THHI 5,000 5,000 0
O SZEXNHLE=Z IIEEXNEH
5,000,000& = 14 5,000
OleH Xl & &l & Al AN & 1,529,700 1,935,624 A405,924
S A & 2te] 15,300 15,100 200
201 Let24d]| 9,100 9,100 0
01 At 2teltl 9,100 9,100 0
OgBt=&H| 9,100
cEXOENHAIALSARESFY
6,500,000& * 14 6,500
CcTANAHEETH EHE Z2H 223
2,600,000& * 14 2,600




AR HANEZ S SAIHED
HE: CANL(FELTGHL/NALTAI)
CHl: OI2h X8R el E Al H = (B9 ®R)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
202 o4 | 6,200 6,000 200
01 2L I 6,200 6,000 200
OLEC AN A2E7
6,200,000& = 1A 6,200
S A2 HE =8 60,400 536,774 NA4T76,374
201 et d| 60,400 36,774 23,626
01 AFR 2t 2| H| 60,400 36,774 23,626
Ogbt4x=24| 50,600
oUETANH2HE 22 - 20S
2,500,000 = 203 50,000
o T AIHERAKS QM= HE
1,000 * 63 * 605 360
OANNMEBALHIEE2SG CIMES HE
1,000 * 63 * 408 240
o2gdx% 9,800
T AHERRFS L ANNMEBHALHERR T
3l o= 70,000 = 26Y x 63 * 70% 7,644
CUSNHLETXT TAAHML U AFS
AHHE 3o 2,156
70,000 = 11¥ = 43| *70%
SAHE HEAAHPIS)RSE 200,000 300,000 A 100,000
401 AlEHIZ 201 Y| 200,000 300,000 A 100,000
01 Al&H| 200,000 300,000 A 100,000
OZAIHE(UPIS)Z=E 200,000,000& = 14l 200,000
0|8 TAIHEANE B4 1,244,000 1,000,000 244 000
401 AlEHIZ 2 0HY| 1,244,000 1,000,000 244,000
01 Al&H| 1,241,000 997,000 244 000
O&J DIEHEESK B4
1,241,000,000& = 14! 1,241,000
03 AlE 21| 3,000 3,000 0
O&J DIEHEEX B4 3,000,000 = 14! 3,000
N5 DF 2 el 10,000 8,750 1,250
201 et 2,000 2,000 0
01 AP 2t 2] H| 2,000 2,000 0
Ogt4L2H| 2,000
o NEHAG I 2AHSE =2
100,000 = 204 2,000
202 044l 8,000 6,750 1,250
01 2L I 8,000 6,750 1,250
Ot gRF4
20,000& = 4% x 100 8,000
TAHECZ &= 11,477,400 10,759,700 717,700




M ox
40 5 4

HdnE3 2M  SAAHE
ANHE(ZELXNIMNL/TILT A

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
== 250,000
Al 11,227,400
Mensstnsa~(7) 48 T2H= 600,000 500,000 100,000
401 A& HIZ 201 I 600,000 500,000 100,000
01 A& HI 595,000 497,000 98,000
O M2nsSstn=2~(F)8d E2H&
595,000,000 * 14l 595,000
03 Al 2 THHI 5,000 3,000 2,000
O M2nsSstn=2~(F)8d =2H&
5,000,000& * 14 5,000
w2s Jr&ECel ~ MO0t ER =204 300,000 500,000 200,000
401 A& IR 201 I 300,000 500,000 200,000
01 A& HI 300,000 498,000 A 198,000
Ouw2s IJtEUel~HY(0hH)2t S2IHE
300,000,000 * 14 300,000
28 2&3sd 2 1,000,000 300,000 700,000
401 AIEHI L 2 0] 1,000,000 300,000 700,000
01 A& HI 995,000 297,000 698,000
OFF ZE3sd(JIA~-Eet A=) HEEEZA
995,000,000& = 14 995,000
03 Al 20 HI 5,000 3,000 2,000
O7RY ZE386 HTFHOIM-BINAR)ST
S A 5,000,000& * 14 5,000
LYS 2 SAE ~ UdbtRI2t S 20 E 300,000 200,000 100,000
401 AIEHI L 20 300,000 200,000 100,000
01 A& HI 298,000 198,000 100,000
OLds ZS4E~HAHER2 S22
298,000,000 * 14 298,000
03 Al S HHI 2,000 2,000 0
LYs =S4 E-UAHR2 E20HE
2,000,000& = 14 2,000
ZES 48 T2MH4 200,000 300,000 A 100,000
401 Al HIZ 2018 200,000 300,000 A 100,000
01 A& HI 200,000 297,000 A 97,000
OZXEs 48 T4 200,000,000 * 14 200,000
SANHEEZ F=H A2 QRAMLAY 200,000 200,000 0
401 AIEHIZL 2 CHEI 200,000 200,000 0
01 A& HI 200,000 200,000 0
zEdZ0s 2 TAHEZZ FH|
100,000,000& * 1Al 100,000
OZFELN g2 TAAHEEZZ HH|
100,000,000& * 1Al 100,000




a=: A2 nsS= 2N ZAHE
Ha: CANL(FELNANL/NALEAI)
g2l TAHNEER =5 (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
F24d wee~Fgelt E2HE 300,000 500,000 200,000
401 Al HI K 201 I 300,000 500,000 200,000
01 A& Bl 298,000 498,000 200,000
OF=d ugel~ddelzt =2 MWL
298,000,000 * 14 298,000
03 Al 2 THHI 2,000 2,000 0
OF2% ugel~addel2t =24
2,000,000 * 14 2,000
AMEE A7 TANEEZ SXH 300,000 300,000 0
401 AIEHI L 201 300,000 300,000 0
01 A& Hl 298,000 298,000 0
OAEE 47 TAHEEZZ &2 H
298,000,000& * 14 298,000
03 Al 2 0HHI 2,000 2,000 0
OAMEE L7 TAHEEZ X2 H
,000,000& = 14 2,000
gxel aAFel(oh)Y 24 300,000 300,000 0
401 AIEHI L 201 300,000 300,000 0
01 A& HI 298,000 298,000 0
Ogdel ddel(oHY T2
298,000,000 * 14 298,000
03 Al S HHI 2,000 2,000 0
Ogxel ddel(ohHY S22
2,000,000& * 14! 2,000
LYds H=EWE @ E20H4 300,000 500,000 A200,000
401 Al HIZ 201 8I 300,000 500,000 200,000
01 A& HI 297,000 497,000 A200,000
OkLgds H3uE & =24
297,000,000 * 14 297,000
03 Al =TI 3,000 3,000 0
OkLgds H=3uE & =24
3,000,000 = 14l 3,000
2ds 2z WE T2MHE 400,000 300,000 100,000
401 A& HIZ 2018 400,000 300,000 100,000
01 A& HI 398,000 297,000 101,000
OSHS SHZDY TN
398,000,000& = 14l 398,000
03 A& S THHI 2,000 3,000 A 1,000
O=2ds 28z 24
2,000,000& = 14l 2,000
nos GEGE ZAMZ 24 24 200,000 300,000 A 100,000




M ox
40 5 4

- _ _ RE]

AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
401 AlEHIZL 2 0HY| 200,000 300,000 A 100,000
01 Al&H| 198,000 298,000 A 100,000

OuWsS dET 2EAZ 2 S 24
198,000,000& » 14! 198,000
03 AlE 201 Y| 2,000 2,000 0
OuWsS dET 2EAZY 2 T 24
2,000,000& = 14! 2,000
ZEINW & =24 500,000 500,000 0
401 Al EHI L 204 HI 500,000 500,000 0
01 Al&H| 497,000 497,000 0
OZEDW & T=2IH4A 497,000,000 * 14 497,000
03 AlE 20| 3,000 3,000 0
OZEDW & E2IHA 3,000,000& = 14! 3,000
Los A2 (O~ =2t E24 200,000 300,000 A 100,000
401 Al HI L 2 0HHI 200,000 300,000 A 100,000
01 Al&H| 200,000 297,000 A 97,000
OLds AR (O~ A =22t S 2
o 200,000,000 = 14! 200,000
ZU2E HEAAS (02 S22 1,000,000 400,000 600,000
401 Al HI L £ 0HHI 1,000,000 400,000 600,000
01 Al& H| 995,000 397,000 598,000
OQREY2Es AY2L~MS(0H2F E2IHE
995,000,000& = 14l 995,000
03 Al 20| 5,000 3,000 2,000
QREY2Es AY2L~MS(0H2F E2IHE
5,000,000& = 14! 5,000
EMS 014 (0F) € E2HA 400,000 300,000 100,000
401 AlEHIZL 2 0HY| 400,000 300,000 100,000
01 Al&H| 398,000 300,000 98,000
OENSs 014 (0HY =2MWE
398,000,000& = 14l 398,000
03 AlE 21| 2,000 0 2,000
OEMNSs 014 (0HY =2ME
2,000,000& = 14l 2,000
EMs QQUX0E H T2 300,000 300,000 0
401 AlEHI 2L £ 0HY| 300,000 300,000 0
01 Al&H| 297,000 300,000 A 3,000
OEMEs QHUXOE F =24
297,000,000& = 14l 297,000
03 AlE 21| 3,000 0 3,000




CANHEEZ &= (2 &HH)
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
OEMES QHUXOE F =24
3,000,000& = 14! 3,000
s Zdls~ssi7d 2L 300,000 150,000 150,000
401 AIEHIZL 201 Y| 300,000 150,000 150,000
01 Al&H| 297,000 150,000 147,000
Oons 2dMs~s=2X722 =204
297,000,000& = 14 297,000
03 Al 201 Y| 3,000 0 3,000
Oons 2dMs~s=2X22 =204
3,000,0008 = 14! 3,000
olots 2SS (0H)~LHR0ICH(0H) S22 - 200,000 200,000 0
401 Al HI L 2 0HHI 200,000 200,000 0
01 A& H| 200,000 200,000 0
Ogad=s s (0hH)~HR0leH(OoHE2ME
200,000,000& = 14! 200,000
Cos HX2XH(0F) &2 A 400,000 100,000 300,000
& 200,000
Al 200,000
401 Al HI L £ 0HHI 400,000 100,000 300,000
&< 200,000
Al 200,000
01 Al& H| 400,000 100,000 300,000
CoAE HE2XH (O AL 2 oA
400,000,000& = 14l 400,000
o=} 200,000
Al 200,000
EME RSEH SAHE S2HA 150,000 250,000 A 100,000
401 Al HI L £ 0HHI 150,000 250,000 A 100,000
01 Al& H| 150,000 250,000 A 100,000
OzdHsS R2SH TAIAHE E2HE
150,000,000 = 14l 150,000
H2s ()ZEE & TAHE T2 302,000 302,000 0
401 AlEHIZL £ 0HY| 302,000 302,000 0
01 Al&H| 302,000 302,000 0
OURE (P)ZLHY BYEX 24
302,000,000& = 14l 302,000
ltBC~BEZ 2t T2 A 500,000 0 500,000
401 AIEHIZL 2 0HY| 500,000 0 500,000
01 Al&H| 497,000 0 497,000
OYYBEH-TERA T2HA
497,000,000 * 14! 497,000
03 AlE 21| 3,000 0 3,000




M ox
40 5 4

P AENS=2 e =P

P EANE(2ELTGNL /NLELE A

CEANAEER 25

- _ _ RE]
AT SA B O (3H) - MEAY - BES gﬁ‘&i HR=2
Oggzd-zgzd ceNa
3,000,000& 3,000
e N~=2HSstw & T2H4A 300,000 300,000
401 AIEHIZL 201 Y| 300,000 300,000
01 Al&H| 300,000 300,000
ORLD-2ASHD ¥ T2H&
300,000,000 Al 300,000
EME TANHEEZE HYUSI B A 350,000 350,000
401 Al HI L 2 0HHI 350,000 350,000
01 A& 350,000 350,000
OEHsS TANHEEZZ HAUSIEA
350,000, 000& Al 350,000
WE OlHAIHE &€ E2H4 400,000 400,000
401 AlEHIZ 2 0HY| 400,000 400,000
01 Al& 397,000 397,000
OnE 0lYAtAHZ € =24
397,000,000 Al 397,000
03 AlE 2 HH] 3,000 3,000
OnsE 0lYAAHZ € =24
3,000,000 Al 3,000
W= a3 & TS24 400,000 400,000
401 AlEHIZL 2 0HY| 400,000 400,000
01 Al& H| 396,000 396,000
OUBS SUBH ¥ 2N
396,000, 000& Al 396,000
03 AlE 20| 4,000 4,000
OU=s Harsd € E2M4
4,000,000 Al 4,000
Foxn g E24 400,000 400,000
401 AlEHIZL 2 0HY| 400,000 400,000
01 Al&H| 396,000 396,000
Sodxzn @ 24 396,000,000 Al 396,000
03 A& E2HH| 4,000 4,000
Osd=x=w & T =24 4.,000,000& Al 4,000
L2ERJFTHS W &2 A=A 200,000 200,000
401 AlEHIZL 2 0HY| 200,000 200,000
01 Al&H| 200,000 200,000
OLEATUSD 52 AT ST
200,000, 000& Al 200,000
SHsS (R)EAC|IgS2~A(0F) € E2IE 400,000 400,000




AENS= SM C ZAAHE D
ANHE(ZELXNIMNL/TILT A
ANAHEEZZ2 &5 fEH)
- _ — d =
SN P SAGEH) - HRAY - BYS e HlnE2
401 Al HIZ 201 Y| 400,000 400,000
01 A& HI 397,000 397,000
OsFS(F)EFAcgs2~EA(0H)E=2HE
397,000,000 * 14 397,000
03 AIE 2 THHI 3,000 3,000
OsFS(F)EAclgsa~8d(0H)E=2HE
3,000,000& * 14l 3,000
APs HQRAAOIME MYz =2 d 200,000 200,000
401 AIEHI L 2CHEI 200,000 200,000
01 A& HI 200,000 200,000
OHRO0HIE AYE2 =&
200,000,000 * 14 200,000
Iz 138 2@ &= 1 H 100,000 100,000
< 50,000
Al 50,000
401 AIEHI L 2CHEI 100,000 100,000
< 50,000
Al 50,000
01 A& Bl 100,000 100,000
OZELs 138 €& &2 &#xF
100,000,000& * 14 100,000
< 50,000
Al 50,000
ZUE &€ ZAAHEEZ L 70,000 70,000
401 AIEHI L 201 70,000 70,000
01 A& HI 70,000 70,000
OXuwd & 24 70,000,000& * 14! 70,000
AR A X & 5,400 A 2,300
202 04l 5,400 A 2,300
01 = LH 4 Hi 5,400 A 2,300
OTANLZH(HEALTSE) Y25
20,000& = 3" * 90¢ 5,400
JIBEAIE Eel® 29 798,887 90,487
= 17,000
Al 781,887
T2 Y ASHSR2AHAIY 84,400 43,000
201 et 54,400 33,000
01 At 22l 49,400 34,500
OE2g=a XI|FE RS H A 12,000
ocEZYHFA MBI M
20,0002 = 100& 2,000
ocEZYFA EE2FPY 20,0008 * 500 10,000




A2 HEDER SH C EAHED
HE: CANL(FELTGHL/NALTAI)
S9l: TADIBAIA EolE 29 (e9: & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OAegsEH(sE - FHS)HMEE 837
10,000& = 600K 6,000
OL2YetE M= 30,0005 = 1,000& 30,000
oz2g+g 1,400
CTRYFTAAND B 2T
70,000& = 10¥ = 23 1,400
02 =224l 5,000 6,500 A 1,500
OAM&EZe(c2HE S)EEEE
5,000,000& = 14! 5,000
401 Al HI K 201 I 30,000 20,000 10,000
01 A& HI 30,000 20,000 10,000
OZ2HFA GHHAE (=2 HE11000) 22l
30,000,000& * 14 30,000
E2Y8 Y ASHS 8 17,000 0 17,000
= 17,000
401 AIEHI L 20 17,000 0 17,000
= 17,000
01 A& Bl 17,000 0 17,000
OL=z2dga & Jx=esE &1
17,000,000& * 14 17,000
= 17,000
CREFA AXNZTEHET HLAY 30,125 0 30,125
403 XIS E X201 & 30,125 0 30,125
02 SII2SOICHSHCHE A HI 30,125 0 30,125
E2HEFA AXNEBEHE HLAY
30,125,000 = 14 30,125
SUHEBRIE 667,362 664,000 3,362
201 Let24E] 104,000 107,000 A 3,000
01 At 22l 104,000 107,000 A 3,000
Oger=EH| 104,000
OSImEXNTFBAAHERIE 4
5,000,000& = 42| 20,000
oz 2UEE Ayl Ae(7E)
4,000,000& = 14! 4,000
o XGtAIZ S (GIS)ZelANAE RAUE>
20,000,000& = 42| 80,000
202 04l 7,000 7,000 0
01 = LH 4 Hi 7,000 7,000 0
OT2YZEAANY U GISTY LS
7,000,000& = 14| 7,000
401 AIEHI L 20 550,000 200,000 350,000
01 A& HI 500,000 200,000 300,000
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05 RIZtR & = 130,000 120,000 10,000
OLFEHl QA&  130,000,0008 * 14! 130,000
401 AIEHI L 20 10,000 10,000 0
01 A& HI 10,000 10,000 0
CEHAL MY 10,000,000 * 14 10,000
AEIH 232tk 242,830 98,480 144,350
201 et 107,830 98,480 9,350
01 At 22l 6,200 6,500 A 300
O m=l 1,200
cHEIIHRE HY=
100,000& = 6% = 23l 1,200
Oogxs 5,000
ocAHLI|AHEH HXE 5,000,000& = 14! 5,000
02 =224l 101,630 91,980 9,650
02223 % HA 6,780
oAAI|H FH HAME 60,0002 * 70K 420
oAEIIH BER 800,000& * 7CH 5,600
cAAIINH SHAMNERES
95,000 = 404 = 23l 760
OA& & Hls X bl 94,850
ocAHLEH RFU 59,850
AL TH(7THH) |7
4,7500 = 7CH * 1,800& 59,850
o= &Hl KXY 35,000
ALFH(7TH) XK X
5,000,000& = 7CH 35,000
401 AIEHI L 20HEI 5,000 0 5,000
01 A& tl 5,000 0 5,000
OAEINAHFINE HUAMAIE & X
5,000,000& = 14! 5,000
405 Xt&tE SHI 130,000 0 130,000
01 It ESH SH 130,000 0 130,000
O=2417] 130,000,000& * 1CH 130,000
B2zg=s 24 64,230 147,649 A 83,419
101 @14 Hl 13,810 13,329 481
04 JIZHZ2XRHEES 13,810 13,329 481
OE&ag= 2202 13,810
oJl = 3 45,8003 * 230 * 1Y 10,534
oFFH 45,800 = 462 * 1H 2,107
cXts¢ 45,800& = 112 = 19H 504
c1EZHE 13,144 ,600& = 1.95% 257
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opTHEE 13,144,600 * 3.1% 408
B2 A Y| 10,420 9,320 1,100
1 AR 22l ] 1,260 1,360 A 100
O =yl 600
CHEAYR 22909 222 ME
100,000& * 69 600
OARE A2 F 660,000 * 14 660
02 B32ZH| 9,160 7,960 1,200
O22322 % HA 2,360
ocHITAHUYS JlEAMEZ ¥ 22
295,000 * 2004 * 43| 2,360
O 24| 2,800
ocHTHE S LY AHZH|
20,000 = 2004 *« 70 2,800
OA&EZ&HI KX Y| 4,000
ocHTAHUEY S AIE&K XU
200,000& = 200N * 23] 800
onsHIE SCCTV AlE K Xl
1,200,000& * 14! 1,200
ocETAHEZ AMSHEI ALK H
2,000,000& = 14 2,000
403 XX S M S K201 & 40,000 60,000 A 20,000
02 Z2II2S0CHeCH& A I 40,000 60,000 A 20,000
OETHUE= AlEES2 SAEx
40,000,000& * 14l 40,000
21 &8 29 A 40,700 45,200 A4 500
202 044 38,200 42,700 A 4,500
01 2L Hl 38,200 42,700 A4 500
OALHMF2H AIAET 0H]
10,000,000& = {14l 10,000
OSHL-EAMEERR o]
150,000& * 4% = 12&€ 7,200
O MaE 22| AENRAF O4d]
150,000 = 1Y x 12&€ 1,800
Ox=z38Hl & 22 |
150,000& * 2% = 12& 3,600
O°ol3 It #X&Qel (o]
200,000& = 29¥ * 12& 4,800
OAHEIAHERE ¢l 150,000& = 6Y = 12& 10,800
A2 F=AH| 2,500 2,500 0
Al =X 2 = X H| 2,500 2,500 0
OHEHH A FX 2,500,000& = 14! 2,500
S E(xsYLDNE/ER2) 11,895,639 14,931,706 N 3,036,067
= 2,300,000
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2 738,000
& 690,000
Al 8,167,639
SHAZ € sHE E2H4E 2,801,500 2,862,000 A 60,500
SHEZZ Ha206(E22l) SEZEZA 300,000 200,000 100,000
1T AIEHIZ 2L 300,000 200,000 100,000
01 Al&H| 298,000 198,000 100,000
OsHETRZ A2 M (B2 )EEZ
298,000,000& = 14 298,000
03 Al&E 201 Y| 2,000 2,000 0
OsHETSZ M0 (B2 )SEER
2,000,000& = 14! 2,000
SHAZ4S A (0ete]) S 2 LI 2 A 200,000 100,000 100,000
401 A& HI L 204 HI 200,000 100,000 100,000
1 Al&H| 198,000 99,000 99,000
OSYANEZT4SH T2 LE
198,000,000 * 14! 198,000
03 Al 201 Y| 2,000 1,000 1,000
SHANZ4SEH T2 T H
2,000,0008 = 14! 2,000
SHESZ 21016 (F22]) SHEZHZA 200,000 200,000 0
401 Al HI L 2 0HHI 200,000 200,000 0
01 Al & H| 198,000 200,000 A 2,000
OsHE=2 =201 &L E
198,000,000& * 14! 198,000
03 AlEE20HH] 2,000 0 2,000
OsHESZ FE2101s6 ST H
2,000,000&¢ = 14! 2,000
SHETZ A0S (FA~AS) ST A2 A} 300,000 300,000 0
401 Al HI L £ 0HHI 300,000 300,000 0
01 Al& H| 298,000 298,000 0
OSHESZR HAH0ISH (RAAE ) ST A
298,000,000& = 14l 298,000
03 Al 20| 2,000 2,000 0
OsHEEZ HAHISH (RA~AE)S T &
2,000,000 = 14! 2,000
SHETZZ AIM203s A (MtUIEel) T2IME 2 A 300,000 300,000 0
401 AlEHIZL 2 0HY| 300,000 300,000 0
01 Al&H| 298,000 297,000 1,000
OsHEEZZ2 AIM203s K S E
298,000,000& = 14l 298,000
03 AlE 20| 2,000 3,000 A 1,000
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OsHEZ=Z AIE203s 8 E2ME
2,000,000& = 14! 2,000
SHEEZ2 PEHMUSH(ES~HE2E) ST I A 300,000 300,000 0
401 AIEHIZL 201 Y| 300,000 300,000 0
01 A&l 297,000 297,000 0
OsHEERZ FH2USH(HES~AHH2H) SR
297,000,000& = 14! 297,000
03 Al 201 Y| 3,000 3,000 0
OS0HECR2 PH04SH(HS-1H) HTH
3,000,0008 = 14! 3,000
SHEZZ FEHNIsE(FE~H&2) SEZEBA 100,000 0 100,000
401 Al HI L 2 0HHI 100,000 0 100,000
01 A&l 100,000 0 100,000
OsHEEZ2 FHINISH SZLEH(MIBEBAEZ)
100,000,000& 14! 100,000
SHEZ 2 SM03H(HIEE20]) SHEZEZA 200,000 200,000 0
401 Al HI L £ 0HHI 200,000 200,000 0
01 Al& 200,000 200,000 0
OsHEE=2 2AH03S A (HIEHE0]) S Z
200,000,000 = 14! 200,000
SHAEFsH s A= T2 EEZIFZDAL 300,000 300,000 0
401 AlEHIZL 2 0HY| 300,000 300,000 0
01 Al& H| 298,000 300,000 A 2,000
OSHANEZHEN s 25 TZTSILE
298,000,000& = 14l 298,000
03 AlE 20| 2,000 0 2,000
OSHANEEN s 2 TS ITE
2,000,000& = 14! 2,000
SHEZZ AS20756(L2~2F2H) HEZ2A 500,000 0 500,000
401 AlEHIZL 2 0HY| 500,000 0 500,000
01 Al&H| 500,000 0 500,000
OsSHEER 2AS2075 46 (L2322 Wz
At 500,000,000 =14l 500,000
SHA TSN (UE~ES2) T2 HEI DA 100,000 0 100,000
1AL H Y20 100,000 0 100,000
01 Al&H| 100,000 0 100,000
OSHAEHEE(4E~-S52) T2 ZHSA
100,000,000 x 14! 100,000
SHANEZ SHEEZZOHE S22 A 1,500 2,000 A 500
202 044l 1,500 2,000 A 500
1 =2 Wl 1,500 2,000 A500
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OSHANE YsH=ES2ME AMY=FT0Y|
1,500,000 * 14! 1,500
SHAZ € sHEEZE A 750,000 900,000 A 150,000
SHAZ ¥ sHEEZZE SFAES 400,000 500,000 A 100,000
401 Al HI L 204 HI 400,000 500,000 A 100,000
01 Al&H| 396,000 485,000 A 89,000
OSHANE &£ sHEEzZ RANES
396,000,000 *14! 396,000
03 Al 201 Y| 4,000 15,000 A 11,000
SHAZ & sHEEZZ RS
4.000,000& » 14! 4,000
SHATZ ¥ SsHEZZ 02224 200,000 200,000 0
401 Al HI L £ 0HHI 200,000 200,000 0
01 Al& H| 200,000 200,000 0]
OSYHANE € sHEE=Z 028X B4
200,000,000 «1A! 200,000
CZ2HEH BESEA 100,000 200,000 A 100,000
401 AlEHIZ S 0HY| 100,000 200,000 A 100,000
01 Al&H| 100,000 195,000 A 95,000
OEZHIEH BESZ2A 100,000, 000& = 14! 100,000
SHANE £ SHEEZZ T 2HZ ZFH=2d9 50,000 0 50,000
401 A& HI L 2 0HHI 50,000 0 50,000
01 Al& H| 50,000 0 50,000
OSHANE & sHEEZ T2HE ¥HEdY
50,000,000 14! 50,000
ANEZAIE & X2t 2,722,639 5,744,256 N3,021,617
2 738,000
Al 1,984,639
WEANIDT2RIMA 50,000 70,000 A 20,000
2 25,000
Al 25,000
401 AlEHIZ 2 0HY| 50,000 70,000 A 20,000
2 25,000
Al 25,000
01 Al& H| 50,000 70,000 A 20,000
ONEAMND 22 HEAH 50,000,000% 14! 50,000
2 25,000
Al 25,000
Hel0lBESREINA 890,000 1,658,000 A 768,000
2 610,000
Al 280,000
401 Al HI L 204 HI 890,000 1,658,000 A 768,000
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AT SA B O (3H) - MEAY - BES Ofl At o %Eﬁ HR=2
2 610,000
Al 280,000
01 Al&H| 870,000 1,638,000 A 768,000
OE0IES Y NS ALY 870,000,000*14] 870,000
2 600,000
Al 270,000
03 Al& 20| 20,000 20,000 0
OE0IES Y A ALY 20,000,000 14! 20,000
2 10,000
Al 10,000
Hel |G MABoTRAHF AlY 206,000 0 206,000
2 103,000
Al 103,000
401 AlEHIZL £ 0HY| 206,000 0 206,000
2 103,000
Al 103,000
01 Al&H| 206,000 0 206,000
O0elo|etdFAIEE olTelRE ALY
206,000,000% 14! 206,000
2 103,000
Al 103,000
AMIR E2XH & 2B 125,139 224,256 N99,117
101 Q124 H| 25,139 24,256 883
04 JI2ZtHIZ2 2 NEES 25,139 24,256 883
OE2H H=&dY 25,139
ool 45,8003 * 42 * 10Y9 *» 13= 23,816
ocllEEE 23,816,000 = 1.95% 465
ofTHEE 23,816,000& * 3.6% 858
401 AlEHI L2 ThYI 100,000 200,000 100,000
01 Al&H| 100,000 200,000 A 100,000
O&EAHEY EA QMR S E=Z2A
100,000,000& = 14! 100,000
AR A M A A DA} 200,000 0 200,000
401 Al HI L £ 0HHI 200,000 0 200,000
01 Al& b 200,000 0 200,000
OMAEA HEEZE AZZBA
200,000,000 « 14! 200,000
CRENEBEY| 100,000 100,000 0
401 AlEHIZL 2 0HY| 100,000 100,000 0
01 Al& H| 100,000 100,000 0
OEZ T X T &y 100,000,000& * 14 100,000
ng AL 200,000 200,000 0




AR: ALDER SN A2
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- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
401 Al HIZ 201 Y| 200,000 200,000 0
01 A& HI 200,000 200,000 0
OnERANE+ 5 A 200,000,000& * 14l 200,000
AAZANE(s2 - HA)RIE= 100,000 100,000 0
401 A& HIZ 201 Y] 100,000 100,000 0
01 A&l 100,000 100,000 0
Os2 % MEeE= 100,000,000& =* 14 100,000
2 nEILFY 229 40,000 30,000 10,000
401 AIEHI L 2 CHYI 40,000 30,000 10,000
01 A& HI 40,000 30,000 10,000
Ong ML JIZ2 A EAHHI
40,000,000 » 14! 40,000
WESUHEAIE FHAY 100,000 100,000 0
401 Al HIZ 201 8] 100,000 100,000 0
01 A&l 100,000 100,000 0
OustdAId=E €1 & E=
100,000,000 * 14 100,000
2 EH 2ZF 4l 1,500 2,000 A 500
202 O4dl 1,500 2,000 A 500
01 = LH 4 1 1,500 2,000 A 500
OS2 FHl AL =2 Ol 1,500,000 = 14l 1,500
LHESZ 0t=22td FUISAM 100,000 0 100,000
401 AIEHI L 2 CHYI 100,000 0 100,000
01 Al& 100,000 0 100,000
OHEEZ Ot=etd ZHISA
100,000,000 * 14 100,000
=20 dF2el Ottt ZEHIA 200,000 0 200,000
401 Al HIZ 2018 200,000 0 200,000
01 A& HI 200,000 0 200,000
o2 F2e| OtSetZ LTS At
200,000,000& 14 200,000
RAUSLH OISt B3 A 100,000 0 100,000
401 Al HI K 201 I 100,000 0 100,000
01 A& HI 100,000 0 100,000
ORUSAR DHSHY B2 A
100,000,000 * 14 100,000
MEH LA OIS B3 A 100,000 0 100,000
401 AIEHI L 2CHEI 100,000 0 100,000
01 A& Hl 100,000 0 100,000
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OAMNEHUR OISt B2 A
100,000,000& = 14l 100,000
2AH X0l ANYZ W2 | 50,000 0 50,000
401 AIEHIZL 201 Y| 50,000 0 50,000
01 Al&H| 50,000 0 50,000
Ogas %x02 VY2 DI Il
50,000,000& x 14! 50,000
SHH Sel A2 A 60,000 0 60,000
401 Al HI L 2 0HHI 60,000 0 60,000
01 Al& H| 60,000 0 60,000
O=AHH Ul AZIHE ZBA
60,000,000 * 14! 60,000
Ao MASe HAESE Ex=Z2A 100,000 0 100,000
401 AlEHIZ 2 0HY| 100,000 0 100,000
01 Al& b 100,000 0 100,000
OsMB s=el HALH B4TA
100,000,000 = 1A! 100,000
ZF0OIME OIRAGH A 1,400,000 1,700,000 A 300,000
ZOIME OI2AIA(SHS) 1,400,000 1,700,000 A 300,000
401 AlEHIZL £ 0HY| 1,400,000 1,700,000 A 300,000
01 Al&H| 1,400,000 1,700,000 A 300,000
onrserd & s=z84 500,000,000 = 14! 500,000
LECE QMRS FH2a
200,000,000 = 14! 200,000
OA2RE Hix=AlE &HH| 200,000,000& = 14 200,000
OANEAEX & B 300,000,000 = 14! 300,000
OelE=A&Xx & Ab| 200,000,000& = 14 200,000
T HA e 805,000 1,163,800 A 358,800
CE2HAES 690,000 1,008,800 A 318,800
201 et 9| 371,200 336,200 35,000
01 AFR 2t 2| bl 271,200 246,200 25,000
==l 4,200
oMI& &Y ZAH|
7,000& * 20 * 10 * 34 4,200
Oexz 267,000
OMAEAXAHASLI|H UI(EZE)
250,000,000& = 14l 250,000
oMAXAAHAMIAH LI (DBO0IE)
17,000,000 * 1CH 17,000
02 23244 100,000 90,000 10,000
OHN&EZH KX 100,000
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cH&&EH SFU 100,000,000& * 14! 100,000
206 M= Hl 192,500 122,600 69,900
01 MHZ 8l 192,500 122,600 69,900
OtEEH L & S HMEAES
50,000,000 = 14l 50,000
O A 20,000& = 1,000m" 20,000
Ogstzs 250,000& = 250& 62,500
OFE =, 100,000& * 100& 10,000
OADJIN E22=+& XM 50,000,000 * 14 50,000
302 OI=LTHoH E & = 6,300 0 6,300
02 RIZHOITHOH 2 & = 6,300 0 6,300
ORM&ZR pI2tol ZAY|
7,0002 * 30H * 108 * 34 6,300
305 HHal=2s 20,000 20,000 0
01 Hia=S 20,000 20,000 0
OMEZY clz2tolmlol taa
20,000,000& * 14 20,000
405 XHoHF S HI 100,000 480,000 380,000
01 et ESFH S 100,000 480,000 380,000
O&ZII(15EE) 70,000,000 = 14l 70,000
odg(sL=28) 15,000,000& * 20K 30,000
CEHEHA(SHS) 115,000 85,000 30,000
201 Let24d] 85,000 85,000 0
01 At 22l 60,000 60,000 0
OSHsS MExd(SAH - ZHYX)
60,000,000& » 14 60,000
02 =224l 25,000 25,000 0
Osds MEDY(|XH & 274 )
25,000,000& * 14 25,000
405 XtatE SHI 30,000 0 30,000
01 At ESFH S 30,000 0 30,000
Ooxgad 3,000,000& = 10CH 30,000
NENEZ =4 3,416,500 2,561,650 854,850
= 2,300,000
< 690,000
Al 426,500
SINAAEHEZ L EH| 3,400,000 2,529,650 870,350
= 2,300,000
< 690,000
Al 410,000
401 Al HI K 201 I 3,400,000 2,471,650 928,350
= 2,300,000
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< 690,000
Al 410,000
01 A& HI 3,390,000 2,451,650 938,350
ONEAHIIZE RS ALY 3,390,000,000% 14! 3,390,000
= 2,295,000
< 688,500
Al 406,500
03 Al 2 0HHI 10,000 20,000 A 10,000
OXEAAZt RFAS 10,000,000 14! 10,000
= 5,000
< 1,500
Al 3,500
AEAHIZ e A ALY 15,000 30,000 A 15,000
201 ¢et24] 15,000 30,000 A 15,000
01 At 2t 2l 15,000 30,000 A 15,000
OEES M & 2AMHIE 2224
15,000,000 * 14l 15,000
NENEZ 2ZFH| 1,500 2,000 A 500
202 O4dl 1,500 2,000 A 500
01 = LH 4 Hi 1,500 2,000 A 500
OXREANEZ MEFH 1,500,000 = 14l 1,500
SH& (XIEatE) Mol (2ELRAML/>TE) 4,289,000 1,444,000 2,845,000
= 2,452,000
< 387,000
Al 1,450,000
Agotd 2tel 4,289,000 1,444,000 2,845,000
= 2,452,000
= 387,000
Al 1,450,000
o & TH off Ol & A& 3,587,000 591,000 2,996,000
= 2,452,000
< 327,000
Al 808,000
401 Al HIZ 201 Y| 3,587,000 591,000 2,996,000
= 2,452,000
< 327,000
Al 808,000
01 A& HI 3,560,000 591,000 2,969,000
OotETHH M LALS (RIEXF)
2,570,000,000% 14! 2,570,000
= 1,842,000
< 245,600
Al 482,400
OOotETHoH Ml LAY (B2 X F)
990,000,000%* 14! 990,000
= 594,000
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79,200
| 316,800
03 Al 2 THHI 27,000 0 27,000
OOCtETHH Ml LA (RIEXI+*) 17,000,000+ 14! 17,000
= 10,000
< 1,400
Al 5,600
OOtATHOH Ol B AFS (ZZZXI+*) 10,000,000+ 14 10,000
= 6,000
= 800
Al 3,200
otd == HHl ¥ =oH0Y At 120,000 120,000 0
201 €24 20,000 20,000 0
01 At 22/l 20,000 20,000 0
Osdtd ZHl ZHlXt 20,000,000 = 14l 20,000
401 Al HIZ 2018 100,000 100,000 0
01 A& HI 100,000 100,000 0
OMEHE =HEH 20,000, 000& =14 20,000
OZZEd ==l s¢E= 20,000,000 14! 20,000
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